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PART A: Vocabulary

Dfreﬂf:ms: Choose the word or phrase (1), (2), (3), or (4) that best completes each

sentence. Then mark your answer sheet.

1- Your new spokesperson is very --------- and clearly comfortable speaking in front of
large audiences.
1) impatient 2) willful 3) voluble 4) modish

2- That ring is made from an ---—----- of minerals; if it were pure gold it would never hold
its shape.
1) occurrence 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament ----—--- the new law that would prohibit companies from
discriminating according to race in their hiring practices.
1) abridged 2) ratified 3) magnitied 4) persuaded

4- The teacher did not appreciate the student's ----—--- and gave him detention.
| ) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not yet been able lu find the missing child; to all of the searchers, the
child’s location is still a%zreat -----

I) fallacy 2) enigma 3) remorse 4) sympathy

6. I really feel sad to say that we are now witnessing environmental destruction on an
————- scale.
1) implicit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely =-------- by his colleagues for his use of offensive language when
addressin Ethe guests,
1) deviate 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are =-------
seeking to expand their markets.
1) nocturnally 2) equivocally 3) indecisively 4) aggressively

9- Much to my =--------, 1 should confess that we don’t have a good indication that women
are actually taking hettcr care of themselves today.
1) indifference 2) verification 3) chagrin 4) jubilance

10- It is to be remembered that living in a ----—--- couniry is no guarantee you will

necessarily live a long life.

1) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

[its each space. Then mark your answer sheet.

The human question 15 the big one. (11) ——--—-—-— on humans are very thin. Most human
populations that are forced to survive on low-calorie diets are also malnourished and are as
likely (12) -==-mmnm- from vitamin and mineral deficiencies. (13) --------- is on the Japanese
island of Okinawa, Walford notes: “The Okinawans have about (14) --------- the calorie intake
of the rest of Japan. They eat mainly fish and vegetables. They have as much as 40 times the
incidence ot people (15) ====—--- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known
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14- 1) 70 percent of 2) a percentage of 70
3) 70 percent 4) 70 of the percentage
15-1)in 2) for 3) over 4) with

PART C: Reading Comprehension

| Directions: Read the following three passages and answer the questions by choosing the

best choice (1), (2), (3), or (4) and then mark the correct choice on your answer sheei.

PASSAGE 1:

Meat chickens, commonly called broilers, are tloor-raised on litter such as wood shavings or
rice hulls, indoors in climate-controlled housing. Under modern farming methods., meat
chickens reared indoors reach slaughter weight at 5 to 6 weeks of age. Broilers are not raised in
cages. They are raised in large, open structures known as grow-out houses. These houses are
equipped with mechanical systems to deliver feed and water to the birds. They have ventilation
systems and heaters that function as needed. The floor of the house is covered with bedding
material consisting of wood chips. rice hulls, or peanut shells. Because dry bedding helps
maintain flock health, most grow-out houses have enclosed watering systems (“nipple
drinkers™) which reduce spillage. Keeping birds inside a house protects them from predators
such as hawks and foxes. Some houses are equipped with curtain walls, which can be rolled up
in good weather to admit natural light and fresh air. Most grow-out houses built in recent years
feature “tunnel ventilation.” in which a bank of fans draws fresh air through the house.
Traditionally. a flock of broilers consist of about 20.000 birds in a grow-out house that
measures 400 feet long and 40 feet wide. thus providing about eight-tenths of a square foot per
bird. The Council for Agricultural Science and Technology (CAST) states that the minimum
space is one-hall square foot per bird. More modern houses are often larger and contain more
birds, but the floor space allotment still meets the needs of the birds. Because broilers are
relatively young and have not reached sexual maturity, they exhibit very little aggressive
conduct. Chicken feed consists primarily of corn and soybean meal with the addition of
essential vitamins and minerals. No hormones or steroids are allowed in raising chickens.

16- According to the passage in a grow-out house..........ouvu
1) natural air is the best method to maintain ventilation
2) there is a large and ready supply of corn and soybean
3) each two broilers need at least one feet of floor space
4) peanut shell beddings are cheaper than wood chip ones
17- The passage points to the fact that in a grow-out house ...............
| ) water is given to broilers in small open tankers
2) modern grow-out houses contain up to 10000 broliers
3) rice hulls are used both as feed and bedding material
4) broilers™ aggressive conduct is controlled by the farmers
18- We understand from the passage that..........coeuun
I') broilers cannot usually reproduce
2) curtain walls are in constant use
3) hormones are used to raise chicken
4) grow-houses do not need large heaters
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19- It is stated in the passage that..........c.ou0.
1) grow-out house broilers are not fed by hand
2) wood chips are favourite bedding with broliers
3) foxes are common predators in a grow-out house
4) nipple-drinkers were not used in older grow-hosues

20~ The word ‘allotment’ in the passage (underlined) is closest to...............
1) *shape’ 2) *share’ 3) “floor’ 4) “‘dimension’
PASSAGE 2

A chicken harvester is a machine used in poultry farming to gather chickens (typically broilers)
for slaughter. Since broilers are not kept in cages. some method is required to catch the chickens.
The traditional hand method was to corral the birds. catch them, grab them by the feet, five per
hand (typically), and then drop the animals into crates. This is a backbreaking job, said to be
"the worst in the poultry industry”. The machine, by contrast, uses mechanical grabbers that
deposit the chickens onto a conveyor belt which then moves them into a temporary holding
area on the machine. From there. the chickens are placed in holding crates or containers, to
transfer them to subsequent processing. Chicken harvesters can harvest up to 200 chickens
every 30 seconds. and around 8.000 per hour. Studies have demonstrated that the use of
chicken harvesters may be less stressful to the birds compared to being hand-wrangled by
humans. The use of the machines has also been demonstrated to reduce injuries to chickens
compared to those that occur from hand-wrangling, especially in wings and legs. In addition,
while the machine does not reduce the number of man hours required to process the animals, it
is said to be easier on the workers. A British studv found that a mechanical catcher reduced
some injuries by as much as 50%. Other studies indicated more modest improvements of 9.5%
Paul S. Berry of the British Silsoe Research Institute is credited with the development of the
machine, starting in the 1980s. The British government provided $200.000 a vear to design the
machine. with hopes of reducing livestock suffering. Earlier mechanical machines used a
vacuum method.

21- We understand from the passage that chicken harvesters were originally developed so
chickens.............
I ) were treated more humanely before slaughter
2) could be processed based on their size and weight
3) were fed the right type of food at the right time
4) could be packaged more quickly after slaughter
22- The passage points to the fact that processing chickens through the machine
I') makes 200 chickens ready for slaughter in about one minute
2) takes almost the same amount of time as that done by hand
3) 18 done much more efficiently in the older vacuum method
4) can reduces injuries to the slaughter chickens by up to 9.5%
23- It is mentioned in the passage that.........covevnie,
1) there are two chicken holding areas inside a harvester
2) chicken are not put on chicken harvesters by hand
3) harvesters process the chickens after slaughter
4) chicken legs are hurt minimally on chicken harvesters

24- The passage is mainly about............ of chicken harvesters.
1) historical development 2) maintenance costs
3) economic advantages 4) description and function
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25- The word “corral’ in the passage (underlined) is best related to........covaii.
1) throw’ 2) "catch’ 3) "enclose’ 4) “press’
PASSAGE 3

Debeaking. also called beak trimming. is the partial removal of the beak of poultry.
especially layer hens and turkeys although it may also be performed on quail and ducks. The
costs of beak trimming relate primarily to welfare concerns. These include acute stress, and
acute. possibly chronie, pain following trimming. A bird’s ability to consume feed is impaired
tollowing beak trimming because of the new beak shape and pain. Most studies report reduced
body weights and feed intake following beak trimming, however, by sexual maturity or peak
egg production, growth rates are usually normal. Weight losses were reduced in chicks that
were beak trimmed by infrared compared with chicks trimmed by a hot-blade. Whether beak
trimming causes pain is a hotly debated concern. It is a complex issue as it may involve acute
and/or chronic pain, and depends on the age it is performed. the method of trimming and the
length of beak that is removed. Beak trimming in the poultry industry usually occurs
without anaesthetic at 1-day of age or when the chicks are very young. but can occur at a later
age if an outbreak of feather pecking occurs, and in some cases, birds may be beak trimmed on
repeated occasions. Beak trimming is not permitted in the UK on meat chickens that are aged
over 10 days. Severe beak trimming. or beak trimming birds at an older age. may cause chronic
pain. Following beak trimming of older or adult hens, the nociceptors in the beak stump show
abnormal patterns of neural discharge, which indicate acute pain. Neuromas, tangled masses of
swollen regenerating axon sprouts, are found in the healed stumps of birds beak trimmed at 5
weeks of age or older and in severely beak trimmed birds.

26- The passage suggests that.............

1) acute stress in a bird is followed by chronic pain

2) infrared debeaking is safer than that by the hot-blade

3) birds beak trimmed under 5 weeks of age usually heals

4) a birds sexual maturity is followed by body weight loss
27- It is stated in the passage that.............

1) quail and ducks are both regarded as layer hens

2) masses of swollen axon sprouts quickly regenerate

3) a bird cannot take feed as it used to after debeaking

4) feather pecking occurs if birds are repeatedly trimmed
28- We may understand from the passage the debeaking is .................

1) the partial beak trimming of the beak of poultry

2) done without anaesthetic with over two-day chicks

3) never done on one-month meat chicken in the UK

4) followed by chronic pain if the beak is cut for over 2 ¢cm

29- The passage does NOT deal with...............
1) the benefits of beak trimming 2) losses resulted by beak trimming
3) long-term pain after beak trimming 4) the pain of beak trimming

30- The word ‘nociceptor’ in the passage (underlined) is a sensory receptor that reacts to
ceesessasensStimuli.
1) *painful’ 2) “organic’ 3) “light sensitive®  4) ‘feed intake’
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